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inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part | and Part 11, one-fourth (Va)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

3. There is only one correct response for each question in Part I
and Part II. Filling up more than one response in each question
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the Answer Sheet of Mathematics and Aptitude Test-Part I
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Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

6. The CODE for this Booklet is K Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / ¥ T I
Mathematics / Ut

Let N be the set of natural numbers and
for aeN, aN denotes the set {ax : xeN}.

If bN N cN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest
common divisor of b and c is 1, then d
equals :

(1) max{b,c}

(2) min{b,c}

(3) bc

(4) b+c

If z is a complex number of unit modulus
and argument 60, then the real part of
z(1-2)

m 1S :

(1) 1+ cos g
(2) 1-sin %
(3) —2sin? g
4) 2 cos? g

If the roots of the equation

1 1 1
+

X+p x+q r

are equal in magnitude

and opposite in sign, then the product of

roots is :

1 (P*+9?)

) % (p*+q%)

3) - % (p*+q°)

@ - % (p*—q°)

1.

M1 N TThd Hemsil &1 =4 § 27 aeN &
maNEEER? {ax:xeN}E‘%'l'iTﬂ%l
'q'FC\'bchN=dN%, TY|%Sf'b, c,d 19 To!'sﬁ
WTehd EATE € 9T b T ¢ 1 He<H THIdS
1%, AR E

(1) max{b,c}
(2) min{b,c}
(3) bc

(4) Db+c

afe 7 T Gy T § fS9et adis 18 qen

. z(1 — 2)
HIUMF 0 T, 20+ 2)

T I AR

(1) 1+ cos —

0

2 1- —

(2) sm2

0

3 —2sin? ~

©) -

0

4) 2cos’ —

4) cos”
Jfg qHHTo

1 + 1 =1

tp  x+q r B I T H T € qe
fawia fo=el & €, A ol 1 USRS & :

1) (P*+q?
) % (p*+q%)
3) - % (p*+q?)

4 - % (P*—q°)
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1 k

If Sy = (O 1) , keN, where N is the set of

natural numbers, then (S,))" (S,) !, for

neNN, is :

1) Son+k-1

(2 Sy pq

(3) 527‘1_ k

(4) SZn -k
1 a b

In a AABC, if (1 ¢ al=0, then
1 b ¢

sin2A + sin?B +sin2C is :

Suppose that six students, including
Madhu and Puja, are having six beds
arranged in a row. Further, suppose that
Madhu does not want a bed adjacent to
Puja. Then the number of ways, the beds

can be allotted to students is :

(1) 264
(2) 480
3) 600
(4) 384

Ifq 91 d FEAsl & §Y=E N & fag

sk=((1) ]I) keN %, @ neN & fau

(S (S ~1':
1) Son+k-1

(2)  Synp g

(4) SZn -k
1 a b

T& AABC #, afe |1 ¢ a4/=0 2, «
1 b ¢

sin2A + sin2B + sin2C ® :

A ®: ferenfef, f5 =y qen s wieferd
T % UH T dfed § afid ®: faew ¥
3T’ Ay, I o Herw aren foaea &l =, @

oo alent 9 I8 fowm fa=nferi 1 fou s
Tohd %, 3T I G % :

(1) 264

(2) 480

(3) 600

(4) 384

K/Page 3
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10.

Sum of the last 30 coefficients of powers
of x in the binomial expansion of (1 + x)°?
is :

(1
2
3

4

229
228
259 _ 929
258

o~ o~ o~
~— N ~— ~—

If
48 47 46, 2 1

23 48.49
51 1 1

=— +K[1l+=+ =+ -+
2 2 3

34 45

49.50

50 ), then

K equals :

@ -1

1
@ -5

log,2, log,y (2*—1) and log;, (2*+3) are
three consecutive terms of an A. P. for :

(1) no real x

(2) exactly one real x

(3) exactly two real x

(4) more than two real x.

Let flx)=(x+1)2—1, x= —1, then the set
x: f)=f~1(0)} :

{

(1) is an empty set

(2) contains exactly one element

(3) contains exactly two elements

(4) contains more than two elements.

10.

(1+x)% % fgu Y8R ¥ 1<\ 30 9&I & x &l

a1 3 T[T 1 AT R
(1) 229
(2) 228
(3) 259_229
(4) 258
B
4 47 46 2 1
- OO T
2.3 34 4.5 48.49 49.50
51 1 1 1
=—+4+K|1+ =+ =+ -+ —
2 ( 2 3 5 ) & T
K TR € :
1 -1
1
2 =3
3 1

x & fohae w1 % fog log,2, log;y (2*—1)
qllog, (2% +3) T THIG I o I HANT
wE?

(1) x % Tt off smeafaes @@ & fag =72
(2) x 7k haA TH TRAfdH AH & foaw
(3) xh Hhad Tl ARKTIH HHI o foTq |

(4) x% Q¥ Ay arafasw 7 & faw)

A f(x) = (x+1)2=1, x= —1 T, @ 9=
x: flo=F1)

) T e wq=a B

) H Had TF 1999 T

3) W Had § a9d ¥ |

) A i eEEa
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11.

12.

13.

flx)=|x log, x|, x > 0, is monotonically

decreasing in :

o (0

1
@ o
B @,e
4) (e,)

i R|>2
Let f(x)=] M ,
a+bx® if o] <2

then f(x) is differentiable at x= —2 for :

1) a:%andb:—li6
(2) az—%andbzi
(3) a:iandb:—%
(4) a:%andb:%

If f(x) = (x—p)(x—g)(x—r), where

p < q < r, are real numbers, then the

application of Rolle’s theorem on f leads

to:

(1) (p+q+n)?=3(qr+rp+pq)
2)  (p+q+n?>3@qr+mp+pg)
3)  (ptq+r)*<3(r+m+pg)
@) (p+q+n*gr+rp+pg)=3

11.

12.

13.

fix)=|x log, x|, x > 0 f5 e ¥ Tarfawe

FAIFE, TR :

o (07

o [ ]

3 (@9
@) (e,>)

L oy 2

T f(x)=] [
a+ bx? ?Tﬁi|x| <2

g x=—2q'{f(x)347>|w=ﬁﬂ%,'5lﬁ:

(1) az%ﬁmb:—i

16
(2) az—i?ﬁﬂb:%
(3) u:iﬂmb:—%
(4) a:%ﬁmb:%

e flx)=(x—p)x—q)(x —r) B, &
p < q<rardfas FE €, @ f WIS &
THT % STFER § fierar §

(1) (p+q+n)?=3(qr+rp+pq)
(2)  (ptq+r?> 3(qr+rmp+pg)
3) (ptq+r?<3r+rm+pg)
4)  (prq+r)qr+rp+pg)=3

K/Page 5
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14.

15.

16.

Let f(x)=|x— x|+ |x —x,|, where x; and x,
are distinct real numbers. Then the
number of points at which f(x) is minimum,
is:
M 1
2) 2
®) 3
(4) more than 3

1- 5 sin’ x x
t fcos5x sin® x = cfoisjc +C o then
flx) is :
(1)  —cosec x
(2)  cosec x
(3) cotx
(4) —cotx

o

If f(x)=1 T

fa)
I = f x gl x (1-x)} dx and

f(=a)

f(@)
L= [ glx(-v}dx

f(=a)

where g is not an identity function. Then

2
the value of 1. is :
1

14.

15.

16.

A fx)=|x— x|+ [x —x,| &, et X, A9 x,
fafve areafas wead €, df 37 fogeli =t wen
W fo) FAFA AU R, T

@ 1
2 2
®) 3
4) 39 iy

+C g

1- 5 sin’x f(x)
fg f dx = =

cos® x sin® x cos” x
flx) TR T
(1)  —cosec x
(2)  cosec x
(3) cot x
(4) —cotx

ex

afe f(x)=——;
1+ e

f(a)
[ xglx(Q=x)dx qen
f(-a)

Iy =

f@)
f gl x (1—x)} dx ¥
f(=a)

o . I
Tl g U TeHHe e T ¢, faﬂﬂﬂ

g

I =

1

2
2 2

1

4 -1




17.

18.

19.

The area bounded by the curves y?=12x
and x?>=12y is divided by the line x=3 in
two parts. The area (in square units) of the

larger part is :

m 7
) 45 4

(3) 13%
(4) 24%

Consider the differential equation,
ydx— (x +y2)dy=0. If for y=1, x takes

value 1, then value of x when y=4 is :

1) 9

@) 16
3) 36
(4) 64

The locus of the mid points of the chords
of the parabola x?=4py having slope m is
a:

(1) line parallel to x-axis at a distance
|2pm| from it.

(2) line parallel to y-axis at a distance
|2pm| from it.

(3) line parallel to y=mx, m#0 at a

distance |2pm| from it.

(4) circle with centre at origin and

radius [2pml|.

17.

18.

19.

TRl y2=12x A x2 =12y & = FoR &%
I, W@ =3 g T AW A T TR A
AT KT &R (I STl H) © :

a 147
@ 4

@ 17,
@) 24

HAIHAT GHIHI ydx — (x + y2)dy =0 T
faar #ifsw affy=1% fau x A 18,
Fﬁy=4a?f?‘l'r{x5|ﬂtl'lq%:

1) 9

2) 16
3) 36
(4) 64

WA x2=4py HI Sanet, St g m g,
o wex fogeti & fog 99 :

(1) T @1 S x-3181 & AR € 701 3HY
12pm| T T R R

(2) T @ T S y-3787 % THa T T 35
12pm| 1 T W R

3) y=mx,m¢0a?l:lﬂ'fﬁ'{3\'@%ﬂm3ﬂ'@
12pm| 1 T W R

(4) U A fSrwe s qa feig & qen e
12pm| T

K/Page 7
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20.

21.

22.

If the point (p, 5) lies on the line
parallel to the y-axis and passing through
the the
2@?+1)x+by+4(a3+a)=0

(a2 +1)x —3by +2(a3+a)=0, then p is

equal to :

intersection  of lines

and

(1) —2a
(2) —3a
3) 2a
4) 3a

If a circle has two of its diameters along
the lines x+y=5 and x—y=1 and has
area 9m, then the equation of the circle is :
(1) x*+y?—6x—4y—3=0

(2) x2+y?—6x—4y—4=0

(B) x*+y?—6x—4y+3=0
(4) x>+y?—6x—4y+4=0

Let P be a point in the first quadrant lying
on the ellipse 9x2+16y?=144, such that
the tangent at P to the ellipse is inclined at
an angle 135° to the positive direction of

x-axis. Then the coordinates of P are :

20.

21.

22.

7fg faig (p, 5) T a1 R feoq & S y-181 &
THTAR 2 LRl Tt
2(@?+1)x+by+4(a3+a)=0 GRI
(@2 +1)x —3by +2(a3 +a)=0 % Ffaesg fag
T BT S B, T‘ﬁpwtl'ﬁ%:

(1) —2a
(2) -3a
3) 2a
(4) 3a

IfE T I & A ™ @S x+y=>5 qAl
x—y=17% o7y € qen g 8wt 9 B,
A Y I H FHHW T

(1) x*+y?’—6x—4y—3=0

(2) x+y?—6x—4y—4=0

(3) x*+y’—6x—4y+3=0

(4) xX’+y?—6x—4y+4=0

M1 P, | =quie &1 U@ fog € 5 < 9=
9x2+16y2=144 R feorg g qon <& 99 &
fog P o= Ef= T3 T99 W@ 1381 & HAHE
fasm & W9 135° &1 K17 SR €, A P H
frdamar €

o (224

7

3 4

7

8 77
(2) (5 T)

o (5%

16 9
53]

SPACE FOR ROUGH WORK / T® &Td & faq s



23.

24.

A variable plane is at a constant distance
p from the origin O and meets the set of
rectangular axes OXI- (i=1,2,3) at points
A; (i=1, 2, 3), respectively. If planes are
drawn through A, A,, Az, which are
parallel to the coordinate planes, then the

locus of their point of intersection is :

Ot n

1.1 .1 _1
2 2 2 2
@) X1 X2 X3 p
4.1 .1 _1
3 3 373
) X1 X2 X3 P

If the lines b =Y =2 27N 4

e lines 1 1 3 an
X Y22 ersect cach other, th
1 > 1 intersect each other, then
\ lies in the interval :

1) (=5-3)

) (13, 15)
3) (11, 13)
4 O 11)

23.

24.

Teh =R GHdd qafog O § T TR 4 p W
@Al § SR eI Sl & T 9=
OX; (i=1,2,3) % f6gali A; (i=1,2,3) W
HHA: Gfoede w21 AR Ay, Ay, A3 E
frdeTieh THaE! % THIR THqA ©id 9 €,
37 dfaesg fag #w fag o 7 -

M (=5-3)

@) (13, 15)

3) (11, 13)

4) (9 11)

K/Page 9
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25.

26.

—

-
Unit vectors g4, b,

? are coplanar.
A unit vector ; is perpendicular to them.
If(;x;)x(?x;l))zl?—llj\'ﬂr
6 3
and the angle between ; and ; is 30°,

=
then ¢ is/are:

A A A
—i =27 + 2k
M
A A A
2i +j — k
@ 3
i+ 27— 2k
3 *
®) -
A A ]/;
—2i —2j +
4
@ ;
A biased coin with probability

p, 0 <p <1, of heads is tossed until a head
appears for the first time. If the probability

that the number of tosses required is even

is % , then pisequal to:

25.

26.

- - —

e A ;) p, o SHACE | TE A
gfewr 4 =1 W o"gd 21 afe
@ x o xa) =215 s Li e

6 33
A g dN p F AT R RMCT, D ¢
%/%:

A A A
=i+ 2j -2k
- 3

)

A A A
i —2j+k
3

(4)

s Afyaa fazwt, faga fa . &1
WIfeRdl p, 0 < p < 1%, 79 qeh STl Il &,
3 ao o vgel 9 fom 7 o1 W | Afg 38Tt
Y YITE HT G&IT TH B9 i Yrfashdr

24 % @ pERE :
M %
@
®) Y
@ %

K/Page 10
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27.

28.

If the mean and the standard deviation of

10 observations xy, x,, ...... , Xg are 2 and 3
respectively, then the mean of
(x1+1)2, (x2+1)2, ...... , (x10+1)2 is equal
to:

(1) 13.5

(2) 144

(3) 16.0

(4) 18.0

A vertical pole stands at a point A on the
boundary of a circular park of radius a and
subtends an angle « at another point B on
the boundary. If the chord AB subtends
an angle a at the centre of the park, the
height of the pole is :

.

2a sin— tana
(1) >
o

2a cos— tana
2) :
. o

2a sin— cota
(3) >

(04
2a cos— cot
(4) 5 cote

27.

28.

F(g 10 F&UN X}, Xy, oo, Xy T HIET qAT
oi9®  fg=wdd w8 2 991 3 €, i
(x;+ 12 (+1)% ... , (x10+1)2 1 HIEY

g:

(1) 13.5
2) 14.4
3) 16.0

4) 18.0

a T390 A6t Tk oIt UTeh shi it W feeod
foig A W TH AR T @l ¢ S ufEi
F T 31 f6g B W &IV o Fafkd F3ar T
7fg S AB IRITT UTh & g W I o Sl
Wﬁ%,?ﬁ@'f—ﬁ?ﬁﬁl’%%:

. o

2a sin— tana
(1) >
o

2a cos— tana
2) >
R 4

2a sin— coto
3) :

(02
2a cos— cot
@) 5 coto

K/Page 11
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29.

30.

31
Let7<9<’rr and

\/2c0t6+ 12 =K—cot6,
sin“0

then K is equal to :

1 -1
2 o
¢ %
@4 1

Let p and q be any two propositions.

Statement1: (p > g) <> gv ~pisa
tautology.
Statement 2 : ~(~pAq) A (pVv g) & pisa
fallacy.

(1) Both statement 1 and statement 2 are

true.

(2) Both statement 1 and statement 2 are

false.

(3) Statement 1 is true and statement 2

is false.

(4) Statement 1 is false and statement 2

is true.

29.

30.

w%<6<w%6m

\/2 cot 0+ ,12 =K — cot 6%}
sin~0

AWK E :

1 -1

20 0

® %

4) 1

AT p AT g IS QI 1EA |

HIT1: (p > ) © g v ~p T TIEA

§W2:~(~pAq)A(qu)HPW%@W
|

(1) YA 1T FHUF 2 IH T T

(2) HUA 19 FHUA 2 I 3TTA T |

(3) HUT1TA T T FHAA 2 ITTA T

(4) HAT1 T T AU FHYF 2 FA T |

K/Page 12
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Part II / ¥TT 11
Aptitude Test / 3tf&far adieror

Directions : (For Q. 31 to 34). Find the odd figure out in the problem figures given below :
Ao : (W31 @34 &)1 79 1 75 397 srplas & G 997 i Fard |

3) 4)

1) (2) 3)

j\’\ .
33. \U\ \u\

(1) (2) (3) (4)

34. /‘ G

1) () (3) (4)

Directions : (For Q. 35 to 37). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the answer figures.

o : (9.35 @37 & @)1 3 - D 997 375hfd § T a&g &1 fo@rar 77 81 9% T8l SR 599, I
Sl § T TEana
Problem Figure | F97 STld Answer Figures / 3t 377?77%?#

35. — - | — —

1) () (3) (4)
K/Page 13 SPACE FOR ROUGH WORK / T% &Td & faq e




Problem Figure | 97 3Thld Answer Figures / 3¢ SFf

36.

37.

Directions : (For Q. 38 and 39).

fder : (W 38 3739 & W )1

Problem Figure /
g9 STl

38.

(1) (2) (3) 4)

The problem figure shows the top view of an object. Identify the
correct elevation, from amongst the answer figures, looking in the
direction of arrow.

Tv7 3hia 7 fwdt a%g &1 S99 §9F fe@rar T &1 dk #t feemn 3
39 gY ST MHaal 7 T 59 & THE §99 gAY/

Answer Figures / 3t¥ 3775‘77%'27?'

s (O

f

(1) (2) ®) (4)

K/Page 14 SPACE FOR ROUGH WORK / T® &Td & faq s



Directions : (For Q. 40 and 41). How many minimum number of straight lines are required to draw
the problem figure ?

fFEor: (740 ity & faw )1 719 & 75 397 swrpfa &1 a7 & for %9 9 %9, a1 qiet @i
F1 STEFIHAT & 7

Problem Figure / 97 STl
40.

41.

(1) 18 @) 19 3) 20 4) 21

Directions : (For Q. 42 to 45). The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

FEor: (W42 @45 & @)1 3-D I97 3TFI7 4 U 9% & T GvF &1 @ T &1 ik &1 fowm
7 3@ gU, $9% Tl GGE §¥F ®l IR ST H G TEANTT

Problem Figure / H37 3Tl Answer Figures / 3X 377??7%/2#
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Problem Figure / F97 37Iehid Answer Figures /| 3 SFfT

44.

45.

[ T]
L[]

Sfi=ss

M) ) ®) (4)

X W

Directions : (For Q. 46 and 47). How many total number of triangles are there in the problem figure
given below ?

9T : (W 46 3iiv47 & fo@ )1 719 31 78 797 syl 7 fAySH 1 o7 T fhal &7

Problem Figure / 97 3T&hid

46.
1 11 @ 12 3) 10 4) 9
S
1 12 @) 13 3) 11 4) 14

K/Page 16 SPACE FOR ROUGH WORK / T® &Td & faq s



Directions : (For Q. 48 to 50). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

FEor: (W48 @ 50 & @)1 3R srpladl & @ &It STHid &1 T F97 3FHd F7 X - X T Garerg

Tgl g gfiferey &2
Problem Figure | F97 STld Answer Figures / 3T STHf el
X
48.
X
@) 2) ©) (4)
X
X
(1) ) 3) (4)
X
| | | | |
50.
| . | | | |
1) ) 3) (4)

Directions : (For Q. 51 and 52).  The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

fdor : (W51 352 & @)1 397 377l o Gt a%q 7 G@ 99 @ 47 81 3R ST 3

9 591 T8 F9] §7F TEHIY
Problem Figure | F97 STld Answer Figures / ST STl
e
1) ) ) (4)
i
1) () 3) 4)
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Directions : (For Q. 53). Which one of the answer figures will complete the sequence of the three
problem figures ?

[Eor: (T53 & @)1 SR sTpladl 4 & Fi7 G SHla F @7 F97 sTFrEl § a7 & STgHH
(sequence) R & ST ?

Problem Figures / H37 SWW Answer Figures / 3t 377?7‘@27?'

NNFAE N

Q) (2) 3) 4)

Directions : (For Q. 54 and 55). Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after the problem figure is opened up ?

9T : (7 54 355 & @)1 3 - D F¥7 3hfa &1 @icrd W, ST a9l 5 G Gal g9 HiT qr s ?

Problem Figure | F97 3Tld Answer Figures / 3TX 377}'7%/277
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Directions : (For Q. 56 to 61). Find out the total number of surfaces of the object, given below in the
problem figure.

fFEor: (.56 @61 & @)1 797 s7rpfa o fr=iifra ag & Gagl &1 Fo7 G&7T 71T HITT |

Problem Figure | F97 Shld

1) 14 @) 15 3) 17 4) 16
57. @

1) 15 2) 16 (3) 14 4) 13
58. %

1) 15 @) 12 3) 13 4) 14
S

1 11 @) 12 3) 14 4) 15
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Problem Figure / 97 37Ild

60.

—~~
—
e

15 )

61.

—~~
—
N

13 )

Directions : (For Q. 62 and 63).

T : (7 62 3 63 & few )1

Problem Figure | 97 37Tld

62. P
1)

A

(1)

16 3) 14 4) 13

12 3) 11 4) 10

One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

74 g TE W Hlad F G TH SFHT 9T SR v 7 gHT w9 9
797 ST H fdt &1 B & 98t & grg

Answer Figures / 3X ST

AN 4

() ®) (4)

2 v <
4

(2) ®)
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Directions : (For Q. 64 and 65). The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation, from amongst the
answer figures.

39T : (7. 64 365 & @)1 797 7l & awqail &7 S g9 fe@ran 77 &1 R &1 foon & e@a
8T W STHIl 7 F $HF T& THE 97 TFAT

Problem Figure | F¥7 3fhld Answer Figures /| 3 3?7?:7%?#
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66.

67.

68.

69.

70.

71.

Who among the following is not an
architect ?

(1) Zaha Hadid

(2) M.F. Hussain

(3) Hafiz Contractor

(4)

2
3
Raj Rewal

Fatehpur Sikri was built by :
(1) Jahangir

(2) Akbar
(3)  Humayun
(4) Shah Jahan

Which one of the following is a sound
reflecting material ?
(1) Thermocol

(2) Jute cloth
(3) Glass
(4) Fabric

Buckingham Palace is located in :

(1) Paris

(2) London
(3) Geneva
(4) Singapore

What secondary colour is obtained by
mixing blue and red colours ?

(1) Pink
(2) Purple
(3) Orange
(4) Brown

Lotus Temple in Delhi was built by :

(1) Jews

(2) Jains

(3) Bahais
)

(4) Muslims

66.

67.

68.

69.

70.

71.

TTH @ HIF-91 AEGHR TE 2

(1) weleere

(2) THTE. g

(3) TS HITHRX

(4) TS @@

TRAEQR TR 1 ST o
(1) SRR

(2) 3T A

(3) T

(4) mESRIA

(1) oHihA

(2) TEEA H HUL

3)

(4) U

afsherm Tere el feord € 7

1) AfeH

(2) weTd

(3) SHenH

(4) famR#A

et 3R o T 1 ow § faem | s
T (secondary) T figerm ?

(1) et

(2) ST

(3) AT

(4)

foeett =1 eted Af<t fhem s=mn o1 ?
(1) =gfeEiA

(2) SR

(3) @S A

(4) HHfaHE A
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72.

73.

74.

75.

76.

Which one of the following material
cannot be used in its original form for

construction of walls ?

(1) Fly ash
(2) Basalt

(3) Laterite
(4) Granite

Green architecture is promoted these days
because :

(1) It costs less initially

(2) Itis environment friendly
(3) It lasts longer
(4) Green is a good colour

What is texture ?

(1) A solid colour

) A type of shape

(3) Lines drawn in one colour
)

The way a surface looks and feels

Which one of the following is not an
earthquake resistant structure ?

(1) RCC framed structure

(2) Load bearing brick walls building
(3)  Steel framed building

(4) Timber framed building

Which one of the following is an odd
match ?

(1) Deforestation - Climate change

(2) Ozone layer - UV rays

(3)  Shrinking Polar Caps - Earthquake
)

(4) Tsunami - Oceanic Earthquake

72.

73.

74.

75.

76.

Rl w1 T & fo, freifea § @ wAE
TaTe SO e SRR H SIS Tl R S
Tehl ?

(1) T T

2) SEeE

(
(3) HEIE (TiTE2)
(

7 fel e areqeren 1 Wieared fean s €
FIIfh -
(1) 38 oy | w9 @™ g €

(2) ¥ IR F ITFRA €
(3) IT R TH =AM §

(4) TOTH TR
ggfa e ?

(

(2) TF TE F AFR

(3) TF 1 H o v v

(4) 59 7T = gae feadt iR 7egy et
g

feAiferd gf=l § @ SF-91 Yo7 falivs g2

(1) IRGLH. T &1 g

(2) 9R I dTelt 21 Y R Hi TARG
(3) I % WA | I AR

(4) EHS * HH F I FARA

freifeRd § § S9 9= T T8l @ ?

(1) oF-STqUqU - ey Ire
(2) S &l W - 3. TR
(3) g 2 1 g - e
(4) HAHT - HREEERE YT
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77.

78.

79.

80.

Why do large industrial buildings have
high located glazing on the North side ?

(1) To getbright sunlight throughout the
day.

(2) To stop the workers from looking
outside.

(3) To get uniform shadow - less light
through the day.

(4) Because the sun stays on the North
side throughout the day.

Which one of the following is an odd
match ?

(1) Hot and Humid - Chennai

(2) Cold and Dry - Ladakh

(3) Temperate - Shimla

(4) Hot and Dry - Jaisalmer

Which one of the following is not a
matching set ?

(1) Sundarbans - Mangroves

(2) Varanasi - Ghats
(3) Jaipur - Canals
(4)

4) Udaipur - Lakes

Which one of the following is not a
matching set ?

(1) San Francisco - Golden Gate Bridge

(2) Washington - White House
(3) Egypt - Mississippi River
(4) England - 10 Downing Street

-00o0-

77.

78.

79.

80.

eI AT SARAT | 391 i R fen # 3=
T T F I €S ?
1) T g =t 9= e T F fae

(2) M HIT T B AR T F Tk F
fea

(3) HN A T wAM fod B & IeHE 9o
& ferw

(4) HifE gd R oo & 90 fed e ®

T ¥ HH-91 9= el T @ 2
1) T AR T - 9%
2) 3R g@ - deE

SIS0 (Temperate) - e
TH AR @I - SR

fr=iferd B @ -9 9= B 76l @ ?

(1) F<@A - T

(2) SR - B

(3) A - T

(4) AR - it

freiferd ® @ ®H-81 9= Ha TRl @I ?

(1) 99 wifewsl - Tieed 12 fost
(2) @RS - =R M
(
(

e - faifadt gfen
TS - 10 ST T

-00o0-
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Read the following instructions carefully :

Frefefaa Fesr earT @ ug

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part II, one-fourth (Y4) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part I
& Il and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1.

10.

11.

qfeqeRt & WTT 1 H 7107 o 30 I8 U § forod uees
T % TE W F fau =r (9) o fuifa fF ™ g
o 11 ( 3tferefa wderor) # 50 a&qfs we § o8 g
T W & fow = (4) 37 & | giedent & A A 2 95
g ek et 70 st freffed § 1 =% oo o5t wien gien
% 3T T TR I W W § | I U =g FAuifa
3T U9 & THE SAfehd B 1 WFT 1 IR oM 11§ Y&k
TeTd 3AY o foTT 36y & fag fyifa o s 8 |
g-wiarg (Va) o1 5ot am o § e fow s | afg
SR 7 A fondl weH 1 1 I AR fom T g, o F
4§ A RIS e 7@l e S |

e giETeRT, ST UF TS SRA Wie 1 ANYEE FAT
H, it frel ot aRfeafa § (e wden gicen @
ST T3 o IS H Fera &1 feafa =1 Srest) gud adhen
YReTehT SUCTsY 1 Ut ST |

AT b1 ST 0 R A8 off T S A1 foaas 1 &
A i START Tl & 1 Geft o e foarg o e, wien
qfegent ® fiia e it i ‘Y% % & fae s’ g/
FHifRd &, TR T T ST | IE ST Yedeh 58 R A i
3R qen gieqent o 3d W 3 981 (Y¥ 25 - 27) W& TE 7
W WM R g wene fiers w1 e yav we
feamd |

s1efiersh =1 Fers 1 faei oTgAfd & fomn g wdhemef
31T TIH A B |

qIhem 9EE T W), wanef it &1 oA
T - 9T 1T e geror - 97 111 3T 93 &
rfirela reIoT- T 111 Rt g ¥ite o ofR Sufeafq o=
TR T TR AR HTH & T & T T DL |
TET 1 3 T I8 JHT ST o 3T 0 Td T 31 7
drere Tu € 59 srferd | w6t Soft § wren s
TRIITe 37U ST Y oh IS T 9T Suferfa uw &
fau T T W ety wd | qenfy, wdened sToet
TfoTd T SAfefa TheT - W 1T 1131 Wi IReen
SEIEETES

ST eh / SR eTd Tiiehetsh a1 S8 ST (9 fF
Thel, HUH TAMS) T JEmT afsid 71

& BT | SR & foe qdenef 9.0, /a0 & femi
wd fafremi gr1 frafad 271 efaa wrem w&m & a9t
AT T THEE §1.T.9. /91E o frei wd fafemi & sqan
BT

fordt off frarfa & wdien g, S 93 @ SR 3 H
g ot a7 T @ 7 fapen S SR 7 € Hier s
3rerat et S |

e Yierent, SR U TS g vie H <t 78 wiian g
e o1 wienefl wet a8 | wfsrdt un H off ford |
gdherrelt grT udier e/ Ry W wavr wis & faarg
ot T i uTad W, Wfga a1 geafertad, TSt
I Ui, ISR, HiaTge WiH, SHaSieh STHIUT a1
TRt 311 WX ol WA SRl & ST AT SUART A ahi
3TAfT T &
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